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56 (114/3/17-114/3/21) = %5 %

i 1”4 Tk | FB (BT [ER NAET =ik 3""”4: AW &=
& £ Ak
FRE 40 14 0 -1 | -2 0 0 0 | -17 ] -0.425 1
ik 4h 34 =1 0 -2 | -7 0 0 1 | -15 | -0.441 2
Fl%E 33 24 | 0 -1 | -2 0 0 2 | -25 | -0.758 3
T 39 19 -1 | 4| A4 0 -2 2 | -28 | -0.800 4
T E 39 =201 0 -4 | -6 0 -1 2 | =29 | -0.829 5
wEE 34 1710 -4 | -5 0 -5 1 | -30 | -0.832 6
EARCE= 39 =31 0 -1 | -3 0 -5 1| -39 | -1.000 7
FRit R 39 =25 0 -4 | -6 0 -5 1 | -39 | -1.114 8
noo_ 39 33| 0 0 -4 0 -5 0 | -42 | -1.200 9
M 3 28 -8 0 0 -9 0 -0 | -2 | 20 | -0.714 | A7) »zme




kD BEFFIEERR2EY - Enp g
56 (114/3/17-114/3/21) = %5 %

i 1”45; Tk | FB (BT [ER ﬂ’f | =k j‘;’: AW &=
B 33 -6 0 0 -1 0 -1 0 -8 | -0.242 1
RN 34 17 -1 | -1 0 0 -1 1 | -19 | -0.559 2
PR 43 24 | 0 -1 ] -1 0 -2 1 | -27 | -0.628 3
A= 39 =271 -1 -1 | -3 0 0 3 | 29 | -0.744 4
f & 4% 35 =321 0 -1 -1 0 -4 2 | -36 | -1.029 5
b3 34 291 0 -2 | -2 0 =5 | -3 | -41 | -1.206 6
v R 32 =3 | -1 [ -1 ] -1 0 -2 I | -39 | -1.219 7
3P 30 —6 0 —2 0 0 -5 2 | -11 ] -0.367 | *71»5=
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%63% (114/3/17-114/3/21) = % %

sim | #p 1”4& Bk | B K| B3 |ER ﬂ’:f | = j:; o | ax
A= | FRE 39 -14 =7 -1 =l 0 -5 1 -22 | -0.564 1
A2 | w2 I’a'?J 34 -17 -3 -1 0 0 -H 2 =24 | -0.706 2
5= iz 55%@% 35 -19 -1 0 =l 0 -5 0 -26 | -0.743 3
=297 | B Fle 34 =27 -2 0 -2 0 0 2 -29 | -0. 853 4
k=1 |2mi| 31 | 84| 0| o] 1o 2| 2| 8] 096| 5
s |eep| 33 | 2] 1| 1| 3] 0| 5| 2 | 33| -1.00] 6
k= |war| 32 | 29| 3| 0] 2| 0] 2] 1 | 8] -Lowa| 7
we|%42] 2 | 15| 2] 0] 1| 0| 5| 0 | 23| 0885 [~
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56 (114/3/17-114/3/21) = %5 %

LL%

R T e T T P B E A N L T
& % & 3o A
- AT AT 39 -9 -4 -2 0 0 -3 3 -15 | -0.429 |
A=A F & 18 =7 0 0 0 0 -3 1 -10 | -0. 556 2
Al- A7 F 4 25 -19 | -1 -1 -1 0 -1 3 -20 | -0. 800 3
A= AT | RIS 17 -13 0 0 -1 0 -3 2 -15 | -0. 882 4
(A e 35 =27 | -7 -2 -1 0 0 0 =37 | -1.057 5
R BT 42 =36 | -14 | -1 0 0 -4 1 =54 | -1.286 6




